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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’,
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ir—o', "ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-13 0
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P3-13

BYiE) | GEBETK () | ERE (EA/) | EREE(B/R) | XS SRR

07:45 312 150.0 28. 875 FA| FiHA@07:45 KRHIEF CRAKZRS)
08:15 312 150.0 28. 875 FH| hHA@08:15 KRENIEF (KRATRELES)
08:45 312 150.0 28.875 FA| FiHA@08:45 KRHIEF (KAL)
09:15 312 150.0 28. 875 FA| FHA@09:15 KRHIEF CRAKZEES)
09:45 312 150.0 28. 875 RB| FiHA@09:45 KREFEF (KAFEHE)
10:20 312 150. 0 28. 875 FA| FiHR@10:20 RHEF (KAEZRSD)
10:50 312 150.0 28.875 FA| FHA@10:50 KRHEF CRAKZHS)
11:20 312 150.0 28. 875 FB| FiHA@11:20 KREIEF (KAFHE)
11:50 312 150.0 28. 875 FA| FiHR@11:50 RHEF (KAEZRS)
12:20 312 150.0 28.875 FA| FhHA@12:20 KEFEF (KRFATEEES)
12:50 312 150.0 28. 875 FA| TiHA@12:50 KRHEF CRAKZRS)
13:20 312 150.0 28. 875 | FHAe13:20 KREFEF (RAERE)
13:50 312 150. 0 28. 875 M| FiHAe13:50 KREIZF (REAEHE)
14:20 312 150.0 28. 875 M| FiHRe14:20 KEEF (RAFERSE)
14:50 312 150.0 28.875 1| FHERe14:50 REAIZEF (REAEZRER)
15:20 312 150.0 28.875 M| FaHAe15:20 KEIEF CGRAFEEE)
15:55 312 150.0 28. 875 M| FiHe15:55 KEEF (RAERSE)
16:35 312 150.0 28. 875 fl|  FHERe16:35 RAMIEF (RAEZRER)
17:30 312 150. 0 28.875 FA| FHR@17:30 RHIEF (KAEZRSD)
2it]5928.0 (19%) 2850.0 3ESHKEC: 2080.0, PH: 6.0

[E&EC 9155.0 K&, EiNFAKECAE&idEE R
7 [ERECE (2087. 0 vs 9155.0) 145




FRV (ml plant-1)

ET (ml/hr/plant)

P3-13_0, Day=61 (2025-05-31)
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P3-13

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS ETE

06:35 283 150.0 28.875 FA| {RRi&@06:35 Bzl (kA{EEEE)
07:10 283 150.0 28.875 FE| 1BRi%@07:10 Bz (kAERSE)
07:45 283 150.0 28. 875 FA| 1Bi&e07:45 Bzh (RAEREE)
08:30 283 150.0 28. 875 FA| {RRi&@08:30 BHzh (kA{EEEE)
09:15 283 150.0 28.875 FE| 1BRi%@09:15 B (FkHAERSE)
10:05 283 150.0 28. 875 FE| 1BRi%@10:05 Bz (kBERSE)
10:40 283 150.0 28. 875 FH| 1Ri%@10:40 Bzh (RkEBERSE)
11:15 283 150.0 28.875 FA| 1Ri%@11:15 Bzh (RAERRSE)
11:45 283 150.0 28. 875 FE| 1BRi%e11:45 Bz (kBERSE)
12:15 283 150.0 28. 875 FA| {Ri&e12:15 Bzl (GRBEEE)
12:50 283 150.0 28.875 FH| 1Ri%@12:50 B3h (KAERRSE)
13:20 283 150.0 28. 875 FE| 1BRi%@13:20 B3 (kAERSE)
13:55 283 150.0 28. 875 FH| 1Bi&e13:55 Bah (RAEREE)
14:40 283 150.0 28.875 FH| 1Ri%@14:40 B3h (GRAERSE)
15:30 283 150.0 28.875 FE| 1BRi%@15:30 Bz (kAFERSE)
16:25 283 150.0 28. 875 FH| 1Bige16:25 Bzh (RAEREE)
21t 4528.0 (16)%) 2400. 0 #2333 %EC: 2080.0, PH: 5.9

TERRHER 2 STEEARTF (184.0 :

136.0), FIEEHT—@ % XA M5

LoRGERRETC (283) 574 (312. 0) FF, FIREH T & ARG EIRS £ XER

ZRIASERRIERE136.0 ml.

[Bl&EC 8824.0 K&, #EiXF{KECAE&HikER
HEEIHECE (2220.0 vs 8824.0) 15
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39. 25 A
39. 00 A
38. 75 A
38. 50 A

38. 25 A

—o— ME

695 700
m=835,n FV0=0

40. 00 ~

39. 75 A
39. 50 A
39. 25 A
39. 00 ~

38. 75

—o— ME

3

8&0 8&5
m=420,n FV0=0

835

52.0

51.5 4

51.0 A

50.5 -

50. 0 -

49.5 -

-o— MW

420 425 430

m=530, FV0=0

39. 00 A

38. 75 A
38. 50 A
38. 25 A
38. 00 A

37.75 A

M_E

555 5&0
m=725,n FV0=0

39. 75 A

39. 50
39. 25 A
39. 00 A
38.75 A

38. 50

38. 25 -

—o— M_E

750 755
m=885,n FV0=0

40. 00 -

39. 75 A
39. 50 A
39. 25 A
39. 00 A

38.75 A

—o— M_E

860 865
m=460,n FV0=0

885

53.0 A

52.5 -

52.0 -

51.5 4

-— MW

7

460 465 470




50.

50.

49.

49.

48.

48.

54.

53.

53.

52.

55.

54.

54.

53.

m=530, FV0=0

—o—

M_Ww

530

5é5
m=725,n FV0=0

T
540

—— MW

725

730
m=885,n FV0=0

T
735

—— MW

885

890

895

51.

51.

50.

54.

53.

53.

52.

55.

54.

54.

53.

m=595, FV0=0
—-o— MW
5_
0_
5_
595 600 605
m=760,n FV0=0
—o— MW
o_
5_
0_
5_
760 765 770
m=955,n FV0=0
—o— MW
0_
5_
0_
5_
9%5 960 965

52.

51.

51.

50.

50.

54.

54.

53.

53.

m=645, FV0=0

—0—

M_W

645

660 6%5
m=795,n FV0=0

—0—

M_W

795

800 805

52.

52.

51.

51.

50.

55.

54.

54.

53.

53.

m=690, FV0=0

—0—

M_w

T
690

695
m=835,n FV0=0

T
700

—— MW

T
835

T
840

845
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P3-13

ByiE) | EBIAT (FD) | ERE (EA/4) | EREE(B/R) | XS EFRF

07:10 283 150.0 28.875 S| {Ri&e07:10 Bzh (REEREE)
07:40 283 150.0 28.875 B {Bige07:40 Bz (RPMERE)
08:15 283 150.0 28.875 RS {Ri&e08:15 B (REAEHE)
08:50 283 150.0 28.875 S| 1Ri%@08:50 Bah (REEEEE)
09:20 283 150.0 28.875 (Z=| 1Ri%e09:20 B3h (GREEESE)
09:50 283 150.0 28.875 [Z=| 1Ri&e09:50 Bzh (FREERSE)
10:20 283 150.0 28.875 (& =| 1Rig010:20 B3h (REEESE)
10:50 283 150.0 28.875 (Z=| 1Ri%010:50 B3h (GREEESE)
11:20 283 150.0 28.875 [ =| 1®Rige11:20 Bzh (REERESE)
11:55 283 150.0 28.875 (& =| 1Rige11:55 Bzh (REEESE)
12:30 283 150.0 28.875 (Z=| 1Ri%e12:30 Bzh (GREAEESE)
13:00 283 150.0 28. 875 B 1Rige13:00 B3h (REEESE)
13:30 283 150.0 28.875 BE| Rige13:30 Ba (REAEHE)
14:00 283 150.0 28. 875 e Rige14:00 Bz (REAERSE)
14:30 283 150.0 28.875 B 1Rige14:30 B3h (REEEER)
15:00 283 150.0 28.875 BE| Rige15:00 Ba (REAERE)
15:30 283 150.0 28. 875 BE| Rige15:30 Bz (REAERSE)
16:10 283 150.0 28.875 |Z=| (Ri%e@16:10 Hzh (RF{ERSE)
16:55 283 150.0 28.875 [Z=| 1Ri&e16:55 Bzh (REERESE)
23t 5377.0 (19%) 2850.0 3ESHKEC: 2080.0, PH: 5.8

TERRHER 2 STEEART (184.0 :

136.0), AlEEHT—@ % XA HS

LoxGERRETC (283) 574 (312. 0) AFF, FIREH T & ARG EIRS £ XER

ZRIASERRIERE136.0 ml.
MR i Bl RECE IR fR 5k .

[Bl&EC 7968.0 K5, iYL F{KECAE&HikE R
FERECE (2337.0 vs 7968.0) 145
RERFEBL I HEREC/PHETR K, FIREIEAENRR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=59 (2025-05-29)

1 e g g e S B S g

VI,VE%;QRV,ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET

100 1—ggp (2968

50

Warning: lcol [FVI',| "FVO’'] missing

(¢
200 -
150 -
100 A

50 -

Warning: lcol ["WC1',  "WC2'] missing

- 3000

- 2000

- 1000

- 02

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

|
Bylnit @61 05:14: ET=?185 Fg=2850.0 Ro=593.0
400 - !

200

et —e—e—2
0 1 2 3

4 5 6 7

13

16

s 4000

- 3000

- 2000

- 1000

17

20

22 1 23 | J000

3

£3

£3

=3

E3 ES

A5 5 B {5 A5 5 B {5 A5 5 & 5 ] B B 5 ] 5] B 5 ] 5] B 5
4001 ByEt @59 19:07: ET=2484 Fg=2176.0 Ro=nan - 3000
- 2000
200 -
- 1000
Y e a— a— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 4000
BB | B |8 | B |8 | 8B| 8B | B |2=|2x|2=2c| B 5 5 [%=]| FA BA e BH [A I EZS
_ 1 |
400 1"ByWoFv @61 05:14: ET=P535 Fg=2850.0 Ro=524.0 3000
' L 2000
200 -
- 1000
\\_
1'0_!:’ 2 2 I 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
el BB | B % | %% %% %I 215215212218 | B | % 5= W | B | B W% % 5=
0.6
0.4 4
0.2 4
0.0
—_— 4

| _obs
PPFD_obs

80

60 -

RH
401 @ RH obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



39.

38.

38.

38.

38.

37.

40.

39.

39.

39.

39.

38.

40.

40.

40.

39.

39.

39.

40 -

38

36

34 A

T
400

T T T
600 800 1000

m=600,m FV0=0

00 ~

75 -

50 A

25 A

00 -

75

—0— ME

665 6%0
m=740,n FV0=0

00 ~

75

50 A

25 A

00 -

75 -

—o— ME

i
i
i

7&5 760
m=860,n FV0=0

740

50 A

25 A

00 ~

75 -

50 -

25 -

-o— ME

i
i
-~

860 865 870

36.

35.

35.

34.

34.

33.

m=435, FV0=0

0

5_

0_

5_

0_

5

M_E

440 445
m=635,m FV0=0

39. 50 A

39. 25 A

39. 00 A

38. 75 A

38. 50 A

38. 25 A

40.

39.

39.

39.

39.

39.

40.

40.

40.

39.

39.

39.

39.

—o— M_E

6&0 6&5
m=770,n FV0=0

—— ME

7%5 7é0
m=895,n FV0=0

770

—o— M_E

895 900 905

m=475, FV0=0

37.

37.

36.

36.

M_E

T T
475 480 485

m=670,m FV0=0

39.

39.

39.

39.

38.

38.

—o— ME

6;5 6é0
m=800,n FV0=0

40.

40.

39.

39.

39.

39.

—o— ME

865 8%0
m=935,n FV0=0

800

40. 25 ~

40. 00 ~

39.75

39. 50

39. 25

39. 00

-&— M_E

940 945

38.

38.

38.

38.

37.

37.

37.

39.

39.

39.

39.

38.

40.

40.

39.

39.

39.

39.

m=540, FV0=0

75 A

50

25 -

00 -

75 A

50 -

25 A

M_E

5&5 560
m=705,n FV0=0

75 1

50

25 A

00 -

75 A

—o— M_E

iir

7i0 7%5
m=830,n FV0=0

25 A

00 -

75 A

90

25 -

00 -

M_E

Bé5 8&0
m=975,n FV0=0

830

40. 4 -

40. 2

40.0 A

39. 8 -

39. 6

39. 4 -

-o— M_E

975 980 985




40. 25

40. 00

39.75

39.50

39. 25

39.00

49 -

48

47

46

45

54.0

53.5

53.0

54.5

54.0

93.5

m=1040, FV0=0

. —o— M_E

T T T T T T
1040.0 1042.5 1045.0 1047.5 1050.0 1052.5
m=540,m FV0=0

—— MW

i

5&5 5%0
m=705,n FV0=0

—— MW

it
7
.

7iO 7%5
m=830,m FV0=0

705

-— MW

i
i
£

830 835 840

52.

52.

51.

51.

50.

50.

54.

53.

53.

55.

54.

54.

53.

54 -

52 -

50 -

48 4

46 -

44

T
400

T T T
600 800 1000

m=600,m FV0=0

—— MW

665 6%0
m=740,n FV0=0

—o— MW

7&5 7é0
m=860,n FV0=0

740

-o— MW

860 865 870

51.

50.

50.

49.

49.

48.

53.

53.

52.

52.

54.

54.

53.

53.

55.

94.

54.

53.

m=435, FV0=0
01 —— MW
5 -
0 -
5 -
0 -
5 -
435 440 445
m=635,m FV0=0
—— MW
5 -
0 -
5 -
0 -
655 6&0 655
m=770,m FV0=0
—— MW
5 -
0 -
5 -
O -
750 755 7éo
m=895,m FV0=0
—— MW
0 -
5 -
0 -
5 -

895

900 905

52.

52.

51.

51.

50.

50.

54.

53.

53.

52.

54.

54.

53.

55.

54.

54.

53.

m=475, FV0=0
57 —e— mw
0 .
5 .
0 .
5 .
0 - T T T
475 480 485
m=670,m FV0=0
01 —— MW
5 -
0 .
5 -
650 655 6éo
m=800,m FV0=0

—— MW

865 8%0
m=935,n FV0=0

800

- MW

935 940 945



m=975, FV0=0 m=1040, FV0=0

—— MW —— MW
55.0 54.5
94.5 1 54.0 -
54. 0 ~ 535
9%5 9£I30 9fl35 104I0. 0 104I2. 5 104I5. 0 1O4I7. 5 105I0. 0 105I2. 5

m m
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P3-13

FfiE) | EBIATK (FD) | ERE (BEA/4) | BEREE(B/R) | XS ERE

07:15 283 150.0 28. 875 s {Ri&e07:15 Bz (REERSE)
07:50 283 150.0 28. 875 sl {Ri&e07:50 Bl (REAEHE)
08:30 283 150.0 28.875 | 1Rige08:30 Bzh (KREEEE)
09:05 283 150.0 28. 875 RS {Ri8@09:05 Bz (REERSE)
09:35 283 150.0 28. 875 S| 1Ri&e09:35 Bah (REEESE)
10:05 283 150.0 28.875 BE| Ri&@10:05 Bzl (REAEHE)
10:35 283 150.0 28. 875 e {Ri8@10:35 Bz (REAERSE)
11:05 283 150.0 28. 875 S| 1Rige11:05 Bah (REERESE)
11:35 283 150.0 28.875 sl Rige11:35 Bz (REAERE)
12:15 283 150.0 28. 875 e Rige12:15 Bz (GREAERSE)
12:55 283 150.0 28. 875 S| Rige12:55 Bz (REERSR)
13:25 283 150.0 28.875 BE| Rige13:25 Bal (REAEHSE)
13:55 283 150.0 28.875 RS Rige13:55 Bz (REAEHE)
14:30 283 150.0 28. 875 S| Ri%e14:30 B3 (REERSR)
15:05 283 150.0 28.875 B 1Rige15:05 Bzh (REEESE)
15:40 283 150.0 28.875 S| Rige15:40 Bz (REAERSE)
16:20 283 150.0 28. 875 e Rige16:20 Bz (REAERSE)
17:10 283 150.0 28.875 B {BRige17:10 B3 (RPBERKSE)
24it]5094.0 (18%%) 2700. 0 3E S KEC: 2080.0, PH: 5.7

FERRNEREEFEEART (184.0 : 136.0), AgEHF—RE XAHH5
LOREBIRTC (283) 571H (312. 0) A, FEEH T X BRERS EXIER
ZRIASERRIERE136.0 ml.

RE XK i3k B RECEUR Fhak.

BEREMEC (2413.0) 5i%EEC (2000.0) RELK KA, /T

EREC 7112.0 K&, EINFAKECE&ihEE R

HEEIKECE (2413.0 vs 7112.0) U5

RE RGBT HEREC/PHIELER L, FTRERIMAEBLR K



FRV (ml plant-1)

P3-13_0, Day=58 (2025-05-28)

1MfF———————Trr——_——_——_——_—— ] - 3000
V1, VO #RYV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576

2174
100 1900 B 1900 1904 | 2000
50 - 1000
0 Warning: lcol [FVI',| "FVO’'] missing 0
0 + - 02

200 ( -
maxM -} 40

FRV (ml d-1)

150 frmmmm e e e -5 AN L e

- 38 =

. | I B N N N A

i | | i P R RN Nn

o RN RN
-----------i —36

50 - H

1.0 34

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.7

Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 - 4000
4

I
400 4 ByInit @61 05:14: ET=2015 Fg=2550.0 Ro=541.0
1 - 3000

300

200 - - 2000

- 1000

ET (ml/hr/plant)
cumET (ml/plant)

100 A

- 4 ) 4 L

408 0 1 71 31 2415161 718119 0] 11 112] 1314 1516 1711817197222/ 23?2000
E | B | 5| @B | & | B | B |k |&E|B| B |k |&E|B| B |B|&E|B | B |B|&E| B | BB

] L 3000

300 1 ByEt @D58 19:07: ET=1935 Fg=1904.0 Ro=ni2///\\\\\\\ I
200 - 2000

_
’'nn

- 1000

LN E I H N s S==———

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
% | % | % | % | @ | | | | % | w % | @ | m ||| | m | m | ®mm ] ® %

]

300 1 ByWoFv @D61 05:14: ET=?174 Fg=2700.0 Rojfgé/@\\\\\\
]

200 -

_af
A 111

100 A

ET (ml/hr/plant)
cumET (ml/plant)

400

- 3000

- 2000

TER RS L 1000

ET (ml/hr/plant)
cumET (ml/plant)

100 A

1.0 > S

0.8

14 15 16 17 18 19 20 21 22 23

B B 5] B

0.6
0.4+

0.2~

2808 7

—_— 4

o | _obs
—@— PPFD obs

80 A

60

—— RH
401+ @ RH_obs
[ ) RHo_obs




39.

38.

38.

38.

38.

37.

40.

39.

39.

39.

39.

38.

40.

40.

40.

40.

39.

39.

m=450, FV0=0 m=495, FV0=0 m=535, FV0=0
—o— ME 38.507 o mE —o— ME
37.0 1 39.0 -
38. 25
36.5 - 38. 00 - 38.8 1
37.75 - 38.6 -
36.0 -
37. 50 - 28,4
35.5 37.95 A
38.2 -
37. 00 -
T T T 35 0 T T T T T T T T T
600 800 1000 450 455 460 495 500 505 535 540 545
m=590,m FV0=0 m=635,m FV0=0 m=675,m FVO=0 m=710,m FV0=0
2514 —@— ME 39.50 ] —@— ME 1975 —o— M |07 o wE
00 - 39. 75
39. 25 - 20,
75 - | 39. 50 -
39. 00 20,
50 - | 39. 25 -
38.75 30,
25 - 1 39. 00 -
38. 50 28,
00 - 1 i
38.25 28, 38.75
75 B T T T T T T T T T T
590 595 600 635 640 645 680 685 715 720
m=745,m FV0=0 m=780,m FV0=0 m=820,m FV0=0 m=855,m FV0=0
004~ 40.25 1 —@— 40. 50 1
i 40. 25 -
40. 00 40.0
75 -
40. 00 -
39. 75
50 - 39.5 39. 75
39. 50 -
25 39. 50
39. 25 -
00 - 39.0 + 39. 95 -
39. 00 -
75 T T T T T T T T 39.00 7 T T
745 750 755 780 785 790 825 830 860 865
m=890,m FV0=0 m=930,m FV0=0 m=980,m FV0=0 m
75 -
—o— —o—
501 40.5 - 40.5 -
25 -
00 40.0 - 40.0 -
75 -
39.5 - 39.5 -
50 -
48 -
890 895 900 930 935 940 985 990 600 800




51.

51.

50.

50.

49.

49.

54.

53.

53.

52.

52.

54.

53.

53.

55.

54.

54.

53.

m=450, FV0=0 m=495, FV0=0
—— MW 51.75 - —— MW
5 -
51. 50 -
0 -
51. 25 4
5 -
51. 00 -
01 50. 75 -
5 50. 50 -
0 - T T T 50. 25 - T T T
450 455 460 495 500 505
m=635,m FV0=0 m=675,m FV0=0
0 —-— MW 54.0 A —-o— MW
S 53.5
0 -
53.0 -
5 -
52.5 -
0 -
635 640 645 675 680 685
m=780,m FV0=0 m=820,m FV0=0
54.5
—o— MW —— MW
0 - 54.0 -
53.5 -
5 -
53.0 -
0 -
52.5
780 785 790 820 825 830
m=930,m FV0=0 m=980,m FV0=0
—o— MW —— M
0 - 55. 0 -
5 - 54.5 -
0 - 54.0 -
5 - 53.5 -

930 935 940

980 985 990

m=535, FV0=0

49. 25 ~

49. 00 ~

48. 75 A

48. 50

48. 25 ~

48. 00 ~

54.

53.

53.

52.

54.

54.

53.

53.

—o—

MW

535

5&0 5&5
m=710,n FV0=0

—0— MW

710

7%5 7é0
m=855,n FV0=0

—0— MW

855

860 865

53.

52.

52.

51.

51.

50.

54.

54.

53.

53.

52.

55.

54.

54.

53.

53.

m=590, FV0=0

—0—

MW

590

595 600
m=745,n FV0=0

—— MW

745

7%0 7%5
m=890,n FV0=0

—o— MW

890

895 900
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P3-13

BriE) | EBIATK (D) | EHE (EH/H) | BEBRERE (/R |[XKS ERE

07:25 283 150.0 28.875 |Z=| (Ri&e07:25 Hzh (RF{ERSS)
08:00 283 150.0 28.875 B 1Rig%e08:00 Bah (KREEER)
08:45 283 150.0 28. 875 BE| {RRi%e08:45 Bz (REEREE)
09:20 283 150.0 28.875 (Z=| 1Ri%e09:20 B3h (GREEESE)
09:55 283 150.0 28.875 [Z=| 1Ri&e09:55 Bzh (FREERSE)
10:30 283 150.0 28.875 (& =| 1Ri%010:30 B3h (REEESE)
11:00 283 150.0 28.875 (Z=| 1Ri%e11:00 Bzh (GREEESE)
11:30 283 150.0 28.875 (& =| 1®Ri%e11:30 Bzh (REERESE)
12:10 283 150.0 28.875 (& =| 1Rige12:10 Bzh (REAEESE)
12:50 283 150.0 28.875 [Z=| 1Rige12:50 Bzh (GREAEREKSE)
13:25 283 150.0 28. 875 FH| 1Ri%@13:25 B3h (RkEBERSE)
13:55 283 150.0 28. 875 FA| {Ri&@13:55 Bz (RAEREE)
14:30 283 150.0 28. 875 FA| 1Bi&e14:30 Bzh (RAEREE)
15:10 283 150.0 28.875 [ =| 1BRige15:10 Bzh (REERESR)
15:45 283 150.0 28.875 (& =| 1Rige15:45 Bzh (REAEESE)
16:25 283 150.0 28.875 |Z=| 1Ri&@16:25 Bzl (REAERESE)
17:20 283 150.0 28.875 |Z=&| (Ri&e@17:20 BHzh (RF{ERSE)
2it] 4811.0 (17%) 2550. 0 JEIUHKEC: 2080.0, PH: 5.6

MERRNER S 5STREAERE (184.0 : 136.0), AJEEHF—RZ X445
RGEBERT K (283) 50 HA (312. 0) A FF, W REH T % MEIERS X XIER
ZRIASEPRIERE136.0 ml.

REREEBIEC (2407.0) Hi&EEC (2000.0) REIK, BHE

[E;%EC 6256.0 K5, ZEiLFAIKECAE & ihEE R
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